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STI_IDY L ENTIRRE

TEST - 9TH STD GEOGRAPHY (UNIT 5, 6, 8)
(BASED ON SCHOOL BOOK)

Choose the incorrect pair

1. Primary Consumers - Zebra

2. Secondary consumers - crocodile

3. Tertiary consumers - owl

4. Autotrophs - Bacteria

a.1,2 b.3,4 c. 2 only d. 4 only

SHOUBTET Een6mIenid HITemIdH

1. W HevbHlenev HISTCMTT - eufldh@G ey
2. @yewiLmbblensy HISTETT - (Lp&Henev
3. APSIBTIOHIEN6L HISTEMTT - SIHMS
4. gmaniy el o ulfl — urdeflwm

a.1,2 b.3,4 C.2 L (B d. 4 w’ @G

An ecological region that has lost more than of its original habitat is
considered a

a. 70%, hotspot b. 70%, Biosphere reserve

c. 60%, hotspot d. 60%, Biosphere reserve

R Gellwed LIpCaasHdHev Gueuras  g@flend &Gwiomet  euTpalL G
Bba1alBCLWTeEmed Sleiall b (HeauaishHed GadmeTeniiiL Geueurigur) RS
B(HSLILBSBSI.

a. 70%, ewenemwmisenmas (Hotspot) b.70%, o ultéBsren smliLsD

c. 60%, euenemwwmsemtas (Hotspot) d. 60%, o uliteBsmen smliLsLD
Tropical Savanna biomes are found between latitudes.

a.10° to 20° E and W b. 10° to 20° N and S

c.20°to 30° N and S d. 20° to 30° E and W

Qeulil  DEWIL 60  Foumedlm  LisoeUliTd CFHTEGH I FRIBEHSHG QenL Gui
STenILILBS B

a. 10° to 20° Sws@ wmmd Guope — b. 10° to 20° eu woBmid G\gest

c. 20° to 30° auL oBmID O&Hest d. 20° to 30° s wBpId GCmE

Which of the following statements is /are correct about desert biomes?

1. Found on the western margins of the continents between 20° and 30° N and
S latitudes.

2. The annual rainfall is less than 50 cm in these regions.
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3. These regions do not possess any vegetation but have special vegetation
type called Xerophytes.

a.1,?2 b.1,3 c. 2 only d. All of these

umeneveuedt Lisoguiie QHT@d uBpiw gflwmer sgBml / FmBoisemen Sl s

1. @iueoeuiTdeaT@d  20°  wHed  30° e, OFHer I FhiGEHHBHenL Gul
SBTEmTLILI(H 5 63TN360T.

2. @miE e Fyrafl wenplumfle) 50 OF.6&GD GMBUTS STEOTLILIGHBSI.

3. @RGsH STaugmser figTe aenTdamper. Smilaibd @migd STeorlu®LD
SANSHJHIAID aUTUIHSH SHTEUJRISET LITEN6VUGTSHHTOUTRIS6NT 616l ILIHE IB6IT.

a. 1, 2 b. 1, 3 C. 2 L (pb d. Bma SORIHHID

Match the following

A. Prairies 1. Eurasia

B. Steppes 2. South Africa

C. Pampas 3. New Zealand

D. Veld 4. North America

E. Canterburg 5. Argentina and Uruguay
A B C D E

a. 4 1 5 3 2

b. 1 2 3 4 5

C. 5 3 4 1 2

d 4 1 5 2 3

CUT(HSHHIB

A. DGguf 1. wGyaguwim

B. erd@L1d 2. Qe i s

C. umburmerd 3. mHugdleombgl

D. GeusoL_ 4. el &Cwfésr

E. GmevrL s 5. 9ITelmemngent wBBID 2 (HGHGe
A B C D E

a. 4 1 5 3 2

b. 1 2 3 4 5

C. 5 3 4 1 2

d 4 1 5 2 3

Consider the following
Assertion (A): Heterotrophs do not produce their own food.
Reason (R): They depend on autotrophs for their nourishment
a. Both assertion (A) and reason(R) are true; R explains A
b. Both assertion(A) and reason(R) are true; R does not explain A
c. Aistrue; Ris false
d. Both A and R are false
LNevTeu(hHeueToUBens LU IS
gaBm (A): Upsenmy em't o ulflser SHhseT o avemey HThsC HwrlHzis
O meiTenT gl
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sryenid (R): o' | sgsHdBar1e e 2 BuSHUTTSmENSF FTTHHI O(HSHELD

a. MWl WBEBID STJewid @Jewihld g, HMJeNID Fnmens alensEGH MBS
b. B wB@Id &TyewId yewihd Ffl, HTFERID FmBens alenddaleoemev
C. &Bm &, STIeNID Heuml
d. sBm BB STyed @JesiGL Hauyl
Match the following
A. World Wild Life Day 1. March 3
B. International Day of Forest 2. March 21
C. World Water Day 3. March 22
D. Earth Day 4. April 22
E. World Environment Day 5. June 5
A B C D E
a. 1 3 4 5 2
b. 1 2 3 4 5
C. 5 4 3 2 1
d 4 3 2 1 5
QUT(HHHIB
A. 2 & alaTailevmIE HeID 1. & 3
B. siteuBGshg ®1(hadel Heid 2. & 21
C. 2 05 BT Held 3. wont§ 22
D. gl gHembd 4. gliyev 22
E. 2 v sBmE@ped &Heorbd 5. ag°&il 5
A B C D E
a 1 3 4 5 2
b 1 2 3 4 5
C 5 4 3 2 1
d 4 3 2 1 5

is a system of interlocking and inderdependent food chains.

a. Food chain b. Food web

c. Trophic level d. Ecosystem

© awieF FhFHeIFH6T  @elmenOWTaIn  FAhE,  Lenemidalul L SIenLOLIL]
ST ILBS MBS

a. 2_ewie| Fhib6ed b. o _ewie] euemev

C. SBMB6L DL L ID d. sBBIFGE0 SENDLIL]

United Nations Conference on Environment and Development (UNCED) was
held in in 1992.

a. Rio de Janeiro b. Paris c. Geneva d. Stockholm
M&FHU  BTHDB6I6 SFMBIFGH60 BBID aeTEFS  LMHT(H 860 19929410
UG HOL CLBBSI.

a. MGwr 19 GxmeGym b, urfled ¢ Gegefleur d. eroLmEGammid
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11.

12.

13.

14.
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Choose the correct statements

1. Different countries of the world conduct census every 5 to 10 years as
recommended by the United Nations.

2. The first known census was undertaken by the Babylonians in 3800 BC
(BCE).

3. In India, the first census was carried out in the year 1872.

a.1,2,3 b.2,3 c.1,4 d. None of these

gflwnen gBoisenen CaiTs

1. maalw prhser Fomuuiler ufbgsenguleiy o eodler LevGeuml HTHH6NT 66ilbleu(h
5 ooevgl 10 YemibBEnSHEG  QUHIPDB  DSHHATOHTeND  HewTd0ls[HLINL
GLoBO\FHT6ITES GITM360T.

2. umiBeumeiied  &lap  (OUT.&L.(P) 380060 2 0BT  (IPH6L  LOSHHETOHTMS

SHeILIOBBLIL BLHSHSHI.
3. @hHUTaled (PHeO WEHHT0SHTND Hewisb0BGBLIL &.L1.1872910 S6ewiBH BLHSH.

a.1,2,3 b.2,3 c.1,4 d. @meu gmIdeLmeL

Which was the first country in the modern world to conduct a census?

a. Sweden b. France c. Denmarkd. Austria
boler 2 euPle0 LHHETOFHTND HEMHOBBHLIML (LPFHO (PHeUled BHLHHW! BTG 61g?
a. FeiLeir b. Wymeiterd C. QL &mnomTd d. speror Mwim

The dominant explanation for black death is attributed to the outbreak of

a. Poli b. Chickenpox c. Malaria d. Plague
etteumd 6bdH CHTUl SBIIF M6 DIMPSHBUILIGSBSHI?
a. GumelBuim b. s Libewio . Bsorflwim d. 19Gerés

Choose the correct statement

1. The World Population Day is observed on 11th July every year.

2. The United Nations Development Programme started celebrating this event
from the year 1991.

a. 1 only b. 2 only c. both1and 2 d. None of these

giwmer gnBenm HewIL MBS

1. 2 608  1D&EFHTOFHTNS  Held  ewiBBsHTHID  oremev  1loyd  Cxa)
SImIFfeHSILBIBSI

2. @S Brhseier auenTsdd FHL Sewwliy Bend 19919b LB (LPFH6D
QBTEWILTY  QU(HBIMBSI.

a. 1 wl @ b. 2 oG C. 1 wimb 2 @yewGnd  d. @eer gELdevmev

Density of population refers to

a. Population Density = Total Population / Total land area

b. Population Density = Total land area / Total Population

c. Population Density = Total population x Total land area

d. Population Density = Total land area x Total population

DB DILTHF 616l

a. &EHET SILTHH = QTHs WoHHeT0sTMms / QTHs Beolyli
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16.

17.

18.
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b. wéseT QI THH = Qwrshs Beorgiy / OTss 1DHHTOHTEND
C. WHFHET SILTHYH = OTSHS WHHT0HTNS X OILOTSHSH HlELLILITLIL
d. wEseT I THS QrHs Heoliugliy X OTsHs SHH6TOHTMS

India has an official population policy implemented in

a. 1951 b. 1952 c. 1953 d. 1954

BbFHu S|J 6ot SIFH BMTLILLTEULDT 60T DSHBHEITOSHTEND OsTeiTensd
BHEOL (LLeOBLUBSSLILL L. S emi(h

a. 1951 b. 1952 c. 1953 d. 1954

Find out the incorrect pair

1. Primary activities - mining

2. Secondary activities - automobile manufacturing

3. Tertiary activities - banking

4. Quaternary activities - scientists and policy makers

5. Quinary activities - consultation

a.1,2,5 b.4,5c.3,5 d.1,3

SHAUDBTET Een6mnTenlsh SHITemISH

1. (WFHeLPBemevsd GFHTLHEOSH6IT - SHEDEIGHMET Oaully 61(HHFH60

2. @DUewiLmbbhenevd OHTINEOSH6IT - UTH 2 _BUSHFH CHTHBFTEN60H6N

3. pSRBTOHENeLSH OHTLELSH6IT - UMIFH6IT

4. BIGISTIOHIEN6VSH OHTLHELBHENT - gleluled DIBIEhTEH6IT WBMILD DITFTHIS S D 60T
CBTeTeNBH6IMED (P96 6T(HLILIGUTE6IT

5. MbIHTDHMEVS CGHTLH60H6N - GeuTFMEN  GULPHIEHFH6D

a.1,2,5 b.4,5c.3,5 d.1,3

Choose the correct statements

1. Japanis in a very active seismic area and it has the densest seismic network
in the world.

2. Indonesia is in a very active seismic zone

a. 1 only b. 2 only c. both1and 2 d. none of these

gllwmer FBoIBenen &Hewrl s

1. sglimedt (LpIPEUGID HeVHBHS LIGHUTe0 Diemiobhleengl. D& 2 60sCoCw s
IFHB ILTHFHWTen Hlevphdd LGHHHemend OsmeaniheiTengi.

2. OBCaHTCaIFAWT 9IFHd HevbBHHBL LGHBmeNH 6BTamIHeTerndl

a. 1 (B b. 2 L (B c. 1 Bmub 2 d. 8meu gaIde0m6L

Which of the following statement has the Risk Reduction measures for
cyclone?

L. Ignore rumors, stay calm don’t be panic.

II.  Keep your documents and valuables in water proof containers.

III.  Prepare an emergency kit’s with essential items for survival

IV.  Switch on all the electrical appliance

a. I, Il and III are correct b.Iand II are correct c.IIl and IV are correct

d. IV only correct e. Answer not known
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CaThdhsluLBeiten 6hsd eaurdSlwb Luwedler Gurg Ueums Geuswiguws Siumw Cxitey

GMPBLIL [BL UL &H60HHET

[. Gomeauwms augbHeemend, USBBEHMBUILD HaITHHL DIMOHBTHEA|LD

II. sdHuwiworear SEIETHISEmETUILD LOBBID 2 L HIDHEN6ETUD — HewlemwiT  L|STH
QUL L&HHD USHHTOTSH MEUSHDH6|LD

III. 2 ulit eump Seusy 2 Hal U LSHmS SHUTTHENeOUTD M6usHH(HHH|LD

IV. smaisg 10ean grgemisbeiler Loa@emenilienUuD SHiewigshs GaleuwiLmib.

a. L, II wmwid I sfwrerene b. I wimid II sfwrerene

c. Il ioppd IV gflwimereneu d. IV ' @G giwrerg

e. allewl  OFflwaledensv

19.  When you happen to see a fire break out, you will make a call to

a. 114 b. 112 c.115 d. 118
Salusbal gBUBLBUTEH BRIS6T HmPHHGeU6mIQUI 616001
a.114 b. 112 c. 115 d. 118

20. Choose the correct statements
1. A tsunami is a series of enormous ocean waves caused by earthquakes,
underwater landslides, volcanic eruptions or asteroids.
2. Tsunamis can travel 700-800 km per hour, with waves 20-30 meter high.

a. 1 only b. 2 only c. both 1 and 2 d. none of these

gflwmer Fmmpisenen CaHiTd

1. PleopBHBD, SLBG Slguiled gBUGBL Hevdafley, erflioemey Geugli] wBEBID
GuIRBHTeIHeT GUTEIBUBBTEY gBUBLD OFHTLT GLHHIGSL OH6MeT  DiemeuHEeor
SO GLITEn6VE 6MIT(FH)LD.

2. oediBuyemeowimertdl  20-30  OULT o wgshdHled ewlld@ &t 700 — 800
HBeumB LT CousdHHlev OF6060HInIQUIS)
a. 1 (B b. 2 ol (Bid c. 1 Bmub 2 d. @ ggidedenev
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